U2L6 Expanding and Simplifying Expressions (builds on LS)

$$
\begin{aligned}
& \text { 9:04 AM } \\
& E x \text { 1) } 3 x^{\prime}\left(1 x^{\prime}+2\right)=3 x^{2}+6 x \\
& \operatorname{lesson}_{5}(2)-2(2 x+1 y-3 z)=\frac{-4 x-2 y+6 z}{} \\
& \text { 3) } x^{3}\left(3 x^{2}-2\right)+2 x(x+4)=\frac{1}{\left.3 x^{2}-2 x\right)+2 x^{2}+8 x}=5 x^{2}+6 x \\
& \text { 4) } 2 a(3 a+2)-3 a(5 a+3)=6 a^{2}+4 a-15 a^{2}-9 a=-9 a^{2}-5 a
\end{aligned}
$$

Assignment: 9189 \# $1,7,10,14,25-31,40,44,46,47$

